C,o«uu"\'o.w /(r. Q.L f;u.ie(-c. el (fun—v{(:\.g PqJ’{-L )

Execie 4 avec /{u.): Lse
a} lo«.o\a&,oLL lo — W'ue«aV(ALQ_ o fl‘!'\ lTeo

ot {(z-a):hxmo =|do

l.>\) Awk{%’_&q(’t\ LD — O™ J’;aul_u»« qut."c.%s

— Lx =z
— x=1w:4=(S)

€;<c\v1.u. T
a)) poU— ﬁ(") = 3 —

> b o l .
| ° Ixl= &

poinks f-)(o;é)( &(2;6)
(o Ll i e

-t LA OMU{TOM\ &ﬁm:ia@a«u}c

PP N R a8l FQA:“L:%

LB f’“"* ?()\) P YA iy P = e -
3(%-) () -2 7..-. -Q

Pa?J‘, | A(D‘\Q) (5(2}—'-()

v

L&t J’(:%[l (\ JQC_QW(/ !
2/& %ﬁwpﬁvw« e ,([;qa}wm‘;‘e/

Le wc(fﬁuﬁw“ -2 Usk"/u‘énkf




